A A= {ab{c}, o) LW, He 5 2L AL

© oecA @ {a,b} € A ® {c}cA
@ {preA ® {a,b,c} Cc A



T A% A={a—3,2,6,7}, B={1,2,3b,2a—1} | tis}s] AC B, BC A
A, o+ b 9 g F3todat.



3. F AE A B o tist A = {e,a,rt,h},ANB = {t,h},AUB =
{e,a,m,t,h,m,o,n} & W, A B & oozt



4. A={1,4,7,81215}, B = {3,5,7,9,11,12,13,14,16} °Itk. n(ANBNX) = 1
JAUX =AQFE X £ 2% 2 A7

@ 16 @ 32 ® 64 @ 128 ® 256



5. F X% A, B el Hste]
A = {z|z= 1080 230 208 o 2F-2 A1
AN B ={13,15,17,19}
AU B = {z[z= 20°]5F0] 2t} L of
e o dao] A5 oot



6. 200 ©]5ke] A% FolA 4 O] ujZo] Ag 5 O] HjS ohd 0] A4

rlr

@ 20 7 @ 30 7\ ® 40 7\ @ 50 7\ ® 60 7|



®1



A A= {z]15 <2 <30,z = 3n + 2
(n& Ardsp)} 2t & off, Aok gt 7o A4S daw b
9

@ 87 @ 16 7l ® 24 7 @ 3271

rr

TR

® 40 7}



=0

39, n(AUB) =62 ¢ ), T}

tod n(A4) =23, n(B) =

]

e A, B ol o

A

i

») @ ¢

C

S



10. 7sto] o @Atel 1 5hd 10 W 5HY 350] A9 Fololgich. B2 WA 3]

Fol3t sPgo] 20, ool 2 WAl FHoldt sHe] 23 Wolekn
Helel B Feldt gL B gelx] otofel.

rol,

o 5



1. % e
A= {z| 2% 100 o4 250 0|5} 129] wi4],
B = {x | 2= 100 Erof 2F2 49] HH_/‘;_}?___] o,

n(B) —n(A) & atef=t.



12, HtA={2,4,5 8 du, =5 &8 &

D 2e€A

@ {5, 8} CA

@ {5} CcA
® {1,2, 4} ¢ A



13. AAY} U = {z|z&= 10 olste] &} o 7 F2HF A, B ol tiste] ANB #
ol HF B O Mprt 2478 &4 wf Ht A O A S a2t W 2 9
27

@1 @ 2 ® 3



14. 949 7|57 40 701 AR} U o F FE2H4E A, B o tiste] n(ANB) =k
2t g, n(A) = n(A°) = 5k, n(B— A) = 3k o]t} o] Wl n(A°N B°) & F<
“otofet,



—

o
il

70

K

olJ
NI
NF

—

N
il

=0
ol
76!
i~



